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Total Score: [SO marks] - :
Answer ALL questions in this paper.

1 (a)
(b)
2 (a)
(b)

Written as a product of its prime factors, 9000 =2* x3” x5°.
"Find thevalues of x and of y:

Written as a product of its prime factors, 27000 =2° x3* x 5°.
Find the smallest p.o.s,itive,inte_ger k such that 27000k is a square

_number.
) - - . 9000=2x3x5" (division or factor tree method)
22 x3 x5 xk
b) o 2'x3x5!
k=2x3x5 .
k=30 -
Ans: (@) x=3
y=2
® k=30
. T
‘Calculate 23.54" —3.245%0.125 _

5.354-2.115
Write down the first five digits on your calculator display.

Write your answer to part (a) correct to 1 decimal place.

Ans: 170.95

(@)
m 170

[1]
m

[1]

(1]
(1}
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Written as the product of its prime factors 1440 =25x3? x5 .
(a)  Express 300 as the product of its prime factors.
(b)  Hence, -

(@) write down the lowest common multiple of 1440 and 300, giving

- your answer as the product of its prime factors,
@) find the greatest integer that will divide both 1440 and 300
exactly. - ' "

“ 8y 300=22x3 x5 (division or factor tree method) [1]

bi) 300=2*x3 x5°.
1440=25x32x5 .
LCM = 2°x3?x5* [1]

bii) -300=2%x3 x5, *
1440=2°x3*x5 .
HCF=22%3 x5 [1]

S Anst (@ 22x3 x5 [2]
by 7200 [2)
b@ii) 60 (2]
Red bean costs x cents per kilogram.
Terry buys y dollars of red bean.
Express the weight of the red beans, that Terry buys, in terms of x and y.
jz dollars —y x 100 cents [1]
x cents — lkg
y x 100 cents - 100y kg
X
Ans: 2
s 100y ke (2]
X




5 Write as a single fraction in its simplest form

(b)

_10x+25-9x+6
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2x+35 _ 3x-2 -

5:

_5(2x+5) 3(3x-2)
15 15

(1]

_10x+25 9x-6

15. 15

15 11y

-

x+31
15

Ans:

Express-
@ 225 % as a fraction in its simplest form,

(ii) 4 centimetres as a percentage of 8 metres."

Eric gained 21 marks out 6f35 in a test.

Express this mark as a percentage.

1
259
100 40

aif) ——x100= 0.5%
800
b) 22 x100= 60%
35

Ans:  a(i)

a(ii)
(b)

X431

15

2

40

0.5 %
60 %

[3]

(1]

(1]
t1]
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Without using a calculator, evaluate each of the following and express your

answers in the simplest form. Show your working clearly No marks will be
given if 1 no working is shown.

~15—(=5)x(-3)
@ o 2%x(-5)

>

o [(rroal)at
_-15= (15) . 4
0 [1] o

30
~10 -

ol 1

3 74
7.2

3 4

28 27
=== 1

12 12 (1
=1

12

Ans: (a)

(®)
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Solve the following equations.

(@)
(®)

2Bp+2)=3(p-4),

m+2 2m-2

6 4 -

a)

. 6pras=3p-12 [1]

6p-3p=-12-4

3p=-16
_-16
LPE—
1
=—5—
P==3
b)

A(m+2)=6(2m—2)
dm+8=12m-12 [1]

8+12=12m—4m

20=8m .

Ans: (@)

(b)

GMS(S)/Math/P1/MYE2014/1E

p= 1 (2]

m= 1 31
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Simplify
@  sdd+3)-36d-2), ..

®) C2B+y) 2-y
3 4 7
- N
=5d* +15d -15d+6 [1]
=5d* +6 o '
b)
12 12
;‘24%8)};6—’3):
12 12

=24+8yf,6'+3'y - [1]
. v]2 e

_18+11y-
12

Ans: ()

(b

5d° +6

18+11y

12

(2]
(3]
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10  Solve the inequalities and show your solutions on the number lines below.

(@) 4x>32
() -3x<24

a) x>8

b) ;.7£<8

x>-8

@ -+

6 7

®) +—

12 13

lr N

—

43

Anst (@) . x>8. [2]
‘-(b) x>-8 [2]

11 A handphone is sold at $484.50 after a discount of 15%
(a) Find the marked price of the handphone.

(b) A further 6% discount is given for credit card payment -Find the
 amount payable if a customer makes payment using a credit card.

a) 85% - $484.50

100%

b) $484.50 x 0.94 = $455.43

- $570.00

Ans: (z) $570.00 [1]

(b) $455.43 [1]
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12 Factorise completely
(a) 5v—20uv, » _ | o -
() ab—3a+2b-6,

(c) 3mn—2ab—an+6mb.

a) =5(1—4u)

 b) ;a(b—3)+2(b—§) [1']
= (a-+2)(b—v3) |

¢) =3mri—2ab+6mb—an. . -
- =3mn+6mb~-2ab—an- [1] - .
- =3m(n+2b)—a(2b+n) [1]
=(Bm—a)n+2b) '

AnS’. (a) 5v(l — 4u) [1 ]

(b) (a+2Xp-3) [21

(c) (Bm-afn+2b) 3]
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mx + c.

The figure below shows a linear graph in the form of y

13

m

i S &

w

-

m

T
)

H

w

* .

“

Write down the coordinates of point a and point b.

N
[
)
O
Z —
> =
'
= oo | <+
1m il
£ g
)
~~ ~~
& &

(1}
(1]

23)
29

a=

)

Ans:

[2]

(®)

End of Paper
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